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1. ftuhag; ngl;bfs; 3 ,d; tpiy &. 450 vdpd;> ftuhag; ngl;bfs; 5 ,d; tpiyapidf;
fhz;f.

2. v = u + f t   #j;jpuj;jpy; t ,id vOthahf;Ff.

3. cUtpy; fhl;lg;gl;Ls;s juTfSf;Nfw;g x ,d; ngWkhdj;ijf; fhz;f.

4. i) xU vz;iz fpl;ba 10 ,w;F kl;le;jl;baNghJ 170 ngwg;gl;lJ. mt;ntz;zhf
,Uf;fj;jf;f kpfr;rpwpa KO vz;izf; fhz;f.

ii) 2455 ,idf; fpl;ba 100 ,w;F kl;le; jl;Lf.

5. P ,ypUe;J XY w;Fr; nrq;Fj;J xd;iw tiuf.

6. 1010101
,uz;L

 ,id jrk vz;zhfj; jUf.

7. cUtpy; fhl;lg;gl;Ls;s juTfSf;Nfw;g x ,d; ngWkhdj;ijf;
fhz;f.

8. fhuzp fhz;f.
x2 + x + 42

9. cUtpy; fhl;lg;gl;Ls;s juTfSf;Nfw;g x ,d; ngWkhdj;ijf; fhz;f.

10. ABC  =  BCD  MFkhW  BCD  ,id tiuf.

� vy;yh tpdhf;fSf;Fk; ,j;jhspNyNa tpil jUf.

gFjp I

,uz;lhk; jtizg; guPl;ir - 2018

tlNky; khfhzf; fy;tpj; jpizf;fsk;

ngau; /Rl;nlz;:

fzpjk; - .Ks;h
Neuk;: 2.30 kzpj;jpahyk;juk; : 9
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11. 48.5368 i)  ,uz;lhk; jrkjhdj;jpw;F>
ii) fpl;ba KO vz;zpw;F kl;le;jl;Lf.

12. rpq;fg;G+u; nlhyu; xd;wpw;F ,yq;if &. 118 toq;fg;gLk; ehs; xd;wpy; 200 rpq;fg;G+u;
nlhyu;fis ehza khw;wk; nra;Ak; xUtUf;F fpilf;Fk; ,yq;if &ghapd; ngWkjpapidf;
fhz;f.

13. 6.023 x 104  ,id  rhjhuz Kiwapy; vOJf.

14. cUtpw;Nfw;g x  ,d; ngWkhdj;ijf; fhz;f.

15. rhjhuz fzpfUtpapidg; (Calculator) ghtpj;J fzpj;jypy; <Lgl;bUf;Fk; gps;isnahUtu;
gpd;tUk; xOq;FKiwapy; rhtpfis njhopw;gLj;Jthnudpy; mtUf;F fpilf;Fk; tpil
ahJ?

16. 0.0058 ,id tpQ;Qhd Kiwf; Fwpg;gPl;by; fhl;Lf.

17. c =     (f-32)  #j;jpuj;jpy; f=95  Mapd; C  apd; ngWkhdk; fhz;f.

18. Kf;Nfhzpnahd;wpd; %d;W Nfhzq;fSk; 1 : 3 : 5 vDk; tpfpjj;jpy; cs;sjhapd; mjd;
kpfg;ngupa Nfhzj;jpd; ngWkhdk; fhz;f.

19. ABC = 600  vDk; Nfhzj;jpid mikf;f.

20. jug;gl;Ls;s Kf;Nfhzj;jpy; igjfurpd; njhlu;gpid a, b, 8 rhu;gpy; jUf.
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� Kjyhk; tpdhtpw;Fk; NkYk; ehd;F tpdhf;fSf;Fk; kl;Lk; tpilaspf;f.
� Kjyhk; tpdhtpw;F 16 Gs;spfSk; Vida tpdhf;fspw;F 11 Gs;spfs; tPjKk; toq;fg;gLk;

gFjp II

1. a) xOf;Ffs; kw;Wk; mikg;G ghlq;fis epidTgLj;jp ftuhak; kw;Wk; Neu;tpspk;G
Mfpatw;iw kl;Lk; ghtpj;J

i) AB = 8cm  vDk; Neu;Nfhl;Lj;Jz;lj;jpid tiuf. (1 Gs;sp)

ii) ABC = 300  MFkhWk; AC = 8cm  MFkhWk; Gs;sp C ,id Fwpf;f. (2 Gs;sp)

iii) AC apd; nrq;Fj;J ,U$whf;fpia mikf;f. (2 Gs;sp)

iv) ACB apd; Nfhz ,U$whf;fpapid mikf;f (2 Gs;sp)

v) NkNy ePu; mikj;j nrq;Fj;J ,U$whf;fpAk; Nfhz ,U$whf;fpAk; re;jpf;Fk;

Gs;spia P vdf; Fwpj;J P apypUe;J 4cm J}uj;jpy; mirAk; Gs;spapd; xOf;if
mikf;f. (3 Gs;sp)

b) jug;gl;Ls;s js cUtpd; Rw;wsitf; fhz;f.

(6 Gs;sp)

2. y = 2x - 3  ,dhy; jug;gLk; tiugpid tiutjw;F ngwg;gl;l G+uzkw;w ngWkhd ml;ltiz
fPNo jug;gl;Ls;sJ.

i) ntw;wplq;fis  epug;Gf. (2 Gs;sp)

ii) cupa Ms;$w;Wj;jsj;jpy; tiugpid tiuf. (3 Gs;sp)
iii) NkNy tiue;j Ms;$w;Wj; jsj;jpy; (-2, -1), (1, 5)  Mfpa Ms;$Wfs; Clhf nry;Yk;

Neu;Nfhl;L tiugpid tiuf. (2 Gs;sp)
iv) NkNy iii) y; ePu; tiue;j tiugpd; gbj;jpwd; kw;Wk; ntl;Lj;Jz;bidf; fhz;f.

(2 Gs;sp)
v) ,t;tpU tiuGfSf;Fk; ,ilapyhd njhlu;gpid vOJf. (2 Gs;sp)

3. fzdp ,Wtl;L (CD) tpw;gid epiyankhd;wpd; fhl;rpg;gLj;jg;gl;Ls;s
tpsk;gug;gyif fPNo fhl;lg;gl;Ls;sJ.,q;F C kw;Wk; D vOj;Jf;fspd;
tl;ltbtg; gFjpapd; tpl;lk; 42cm MFkhWs;s miutl;l tbtkhdJld;
,U vOj;Jf;fSk; rPuhd fz;zhb Foha;fspdhy; Mf;fg;gl;Ls;sd.

i) vOj;J C apid Mf;fj;Njitahd fz;zhbf; Fohapd; ePsj;ijf; fhz;f.

(3 Gs;sp)

ii) vOj;J D apid Mf;fj; Njitahd fz;zhbf; Fohapd; ePsj;ijf; fhz;f.

(2 Gs;sp)

iii) ,jd;NghJ 1cm ePsj;jpw;F &. 30.00 nrythdnjdpd;> ,U vOj;Jf;fisAk; Mf;f

Vw;gl;l nkhj;j nrytpidf; fhz;f. (3 Gs;sp)

iv) vOj;Jf;fis xspA+l;l fz;zhbf; FohapDs; 6cm ,ilntspfspy; rpwpa kpd;Fkpo;fs;

nghUj;jg;gl;Ls;sd vdpd;> kpd;Fkpo;fspd; vz;zpf;ifapidf; fhz;f. (3 Gs;sp)
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4. a) RUf;Ff.
i) ii)

b) ntspehl;Lg; gaznkhd;wpy; <Lgl;Ls;s jpU md;tu; mtuplk; ,Ue;j &. 310 000
,id mnkupf;f nlhyUf;F gupkhw;wk; nra;a Ntz;bapUe;jJ.
xU mnkupf;f nlhyu; = ,yq;if &gh 155.00 vdpd;>
i) gupkhw;wj;jpd;NghJ md;tUf;F vj;jid mnkupf;f nlhyu;fs; fpilj;jd?

(3 Gs;sp)
ii) gazj;jpd;NghJ mtu; 220 mnkupf;f nlhyu; ngWkjpahd ifNgrp xd;iw thq;fpdhu;

vdpd;> mjd; ngWkjp ,yq;if &ghtpy; vt;tsT? (2 Gs;sp)

5. cUtpy; fhl;lg;gl;Ls;s juTfSf;fika fPo;tUk; tpdhf;fSf;F tpilaspf;f.
i) fhuzq;fhl;b x, y, z  ,dhy; fhl;lg;gl;Ls;s Nfhzq;fspd; ngWkhdq;fisf; fhz;f.

(6 Gs;sp)

ii) x, a, b Nfhzq;fspilapyhd njhlu;gpid vOJf. (2 Gs;sp)
iii) a = 280    Mapd; AB, BC NfhLfs; xd;Wf;nfhd;W nrq;Fj;J vdf; fhl;Lf.

(3 Gs;sp)

6. i) jPu;f;f. 3(2x - 3) = 33

ii) jPu;f;f + 8 = 11

iii) xUq;fikr; rkd;ghl;Lf; Nrhbfisj; jPu;f;f.

7. xd;W &. 60.00 tPjk; 80 Njq;fha;fs; thq;fpa jdghy; xd;W 72.00 tPjk; tpw;fpwhu;.
i) Njq;fha; nfhs;tdtpw;F vt;tsJ nrythdJ? (2 Gs;sp)
ii) tpw;gidapd;NghJ ngw;Wf;nfhz;l ,yhgk; vt;tsT? (3 Gs;sp)
iii) ,t;tpyhgr; rjtPjj;ijf; fzpf;f. (3 Gs;sp)
iv) Nkw;gb Njq;fha; tpahghuj;jpd; ,yhgr; rjtPjk; 25% Mf ,Uf;f Ntz;Lnkdpd; xU

Njq;fha; vd;d tpiyf;F tpw;gid nra;jpUf;f Ntz;Lk;? (3 Gs;sp)

11x + 3
4

2a - 3b = 5

5a + 3b = 44

(6  x 6  
64

2 3 0)(3 Gs;sp) (3 Gs;sp)7  x 7  
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